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Indian Economy
qRAT  sTefeaen
M.A. Economics (MAEC-12/16/17)

First Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

A : TE YA ST (80) FHl w1 B S oA (03)
wuel %, @ 9 T H fawfya B ySe wve o
feu T fomga feen & AR & U9 hl ' B
2

SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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de ;. @i ‘e H AR (04) < S e v T T
2, U% v o foau =19 (19) % i@ 2
foanfehl &l 99 © Poad YA B IHW A B

1. Discuss the growth of population in India and explain its

impact on economic development.

IRd H SHue gig & == wd gU ST fomm ™
9% Y9El 1 Ul

2. Whatis the concept of land reforms ? Explain the efforts of
Govt. of India in this direction.

qfF guR @ 1 Afaug 22 39 e ¥ 9WRg @R gn
7 @ fwd ™

3.  What are the advantage of Indian economy by liberalisation ?
Explain.

IEFO Y AR SiefeRen ®I ORI " §7 S
Hifeg|

4. Explain the financial relation between centre (Union) and
states in India.

g U s T T % A fadig g &l oare
Hifg|
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SECTION-B/( @Us-@ )
(Short Answer Type Questions)/( T ST arT T97)
Note : Section 'B' contains eight (08) short answer type

questions of eight (08) marks each. Learners are required

to answer any four (04) questions only. (4x8=32)

Me: we ‘@ H oA (08) oY I oA T A
™ ¥, TO% T & fau e (08) i frwifa
g1 foenfefal =l 9 ¥ wow WR (04) WA &
S T

1. What is the meaning of National Income ?

TS e w1 oY R’ 22

2. Explain the objectives of 12th five year plan.

128 dua A % S i A hifeg|

3. What are the main characteristics of Economic

Development ?

afefer T =1 yq@ favma] wF @ €2
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4. What is Indian Monetary system ?

IR g gomell s @2

5.  Comment on India's new EXIM policy.

Od ki T AEE-TEE Aifd W feuel fafam)

6. Explain the recommendations of 14th Finance Commission.

<egd fad M w1 fqwien 1 guEEu

7. Explain the main reasons for low productivity in Indian

Industries.

IRAE UM § HH SURHA & T HROT FHI A
IS

8. Explain the types of unemployment in India’s reference.

TG & <Y H S & YRRl i A SIS
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Note :

SECTION-C/( @Us-)

(Objective Type Questions)/(a'{ﬁﬁ'% T )

Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section

are compulsory. (10x1=10)

gug ‘M § 7| (10) TS v KA W€
T% T & fau wh (01) 3w fauifa ®1 =9
v & gt gy SAer R

Choose the right answers :

TE ST FH T HIfAC ¢

1.

S-18

Sex ratio in 2011 census was :

(@) 939 (b) 936

() 922 (d) 940.

2011 1 SOET o oA S U@ o
(1) 939 (9) 936

(|) 922 (T) 940.

The term of 12th five year plan was :

(a) 2007-2012 (b) 2012-2017

(c) 2003-2008 (d) 2002-2007.
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el TEauid AT ST hIEhTA o
(37) 2007-2012 () 2012-2017
(&) 2003-2008 (%) 2002-2007.

3.  World Trade Organisation was organised on :
(@) 1 January 1993 (b) 1 January 1994
(¢) 1 January 1995 (d) 1 January 1996.
fova =M @MeA (WTO) e e | o1
(1) 1 SHadt 1993 () 2 SHad 1994
(") 1 SHadt 1995 () 1 SHad 1996.

4. The state with the lowest per capital income in India is :

(a) Bihar (b) Orissa

(¢) Rajasthan (d) Gujarat.

9Rd W Wfd Al =AW ST ool TS A 1 @2
(a1) forem () 3er

(T) A (%) TS|

5. Who is the chairman of NITI Aayog ?
(a) Prime Minister (b) Finance Minister
(c) Defence Minister (d) None of the above.
Hifg o w1 A wE B2
(1) T (a) faa w01
(W) & A () T ¥ FE T
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6. In India which type of chemical fertilizer is used maximum ?
(a) Potassium (b) Phosphoric
(c) Nitrogenic (d) Allequal.
qRd # ff¥ TR & T9EH® IRE Hi @Ud FaiHew
27
(1) defmm (9) IR
N IEEEIRED (%) wft wEA|

7. Balance of trade is related with :
(a) Export-import of services
(b) Export-import of goods
(¢) Export-import of goods and services
(d) None of them.
() Genstl & SEE-fak 9
() oregstl & - 9
(|) oregsti we Henstl % - 9
(3) SWE H ¥ HE T

8. What is the meaning of marginal land ?
(a) Less than one hectare land holding
(b) More than one hectare land
(¢) One hectare to two hectare land holding
(d) None of them.
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o diq w1 g e @2
(1)1 TRIW ¥ FH 9
(F) 1 TRIW 9 Afsw 9
(9) 1 TRIW 9 2 TRR 9@
() SWd d 9 iz T

9. Indian economy is called as :
(a) Controlled Economy
(b) Mixed Economy
(c) Free Economy
(d) Centrally planned Economy
TRdTE teferemen wE SR ©
(1) Fafa ereieaeen
(9) fafya stefeaeen
(|) Tordsl stefegeee
(7) =g fEsfg sefegereen

10. When was GST implemented ?
(a) 1 April 2016 (b) 1 April 2017
(c) 1 July 2017 (d) 1 July 2016.
StTEd. wa | @ gl

(1)1 3 2016 () 1 e 2017
(F) 1 JaE 2017 () 1 Ja@E 2016.
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